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1. 中学入試の計算問題（逆算）(2017/8/26版)
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2. 中学入試の計算問題（逆算）(2017/8/26版)
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3. 中学入試の計算問題（逆算）(2017/8/26版)
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4. 中学入試の計算問題（逆算）(2017/8/26版)
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5. 中学入試の計算問題（逆算）(2017/8/26版)
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6. 中学入試の計算問題（逆算）(2017/8/26版)

(1) 1.4×
(
　 − 1

2

)
÷
(
4
3

5
− 4.25

)
+

2

3
= 4

(2) 2.2×
(
　 − 1

3

)
÷
(
5
3

5
− 4.5

)
+

2

3
= 3

(3) 2.5×
(
　 − 3

5

)
÷
(
4
1

3
− 3.75

)
+

6

7
= 4

(4)
(

62

3
− 124

7

)
÷
{(

2

3
+ 　

)
× 24

35
− 1

3

}
÷ 0.125 = 62

(5)
(

107

7
− 25

2

)
÷
{(

5

6
+ 0.125

)
× 　 − 33

56

}
÷ 0.25 = 39

(6)
(

79

5
− 83

6

)
÷
{(

5

12
+ 　

)
× 24

35
− 1

3

}
÷ 0.875 = 59



http://kaminodrill.sakura.ne.jp/ 　ル-327319928

c⃝かみのドリル http://kaminodrill.sakura.ne.jp/

7. 中学入試の計算問題（逆算）(2017/8/26版)
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8. 中学入試の計算問題（逆算）(2017/8/26版)
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9. 中学入試の計算問題（逆算）(2017/8/26版)
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10. 中学入試の計算問題（逆算）(2017/8/26版)
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11. 中学入試の計算問題（逆算）(2017/8/26版)
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12. 中学入試の計算問題（逆算）(2017/8/26版)
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13. 中学入試の計算問題（逆算）(2017/8/26版)
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14. 中学入試の計算問題（逆算）(2017/8/26版)

(1) 2.9×
(
　 − 1

2

)
÷
(
4
1

5
− 3.5

)
+

1

6
= 5

(2) 2.6×
(
　 − 4

9

)
÷
(
5
4

5
− 4.5

)
+ 0 = 2

(3) 1.5×
(
　 − 2

3

)
÷
(
4
3

5
− 4.5

)
+

2

3
= 4

(4)
(

118

5
− 65

3

)
÷
{(

7

10
+ 　

)
× 10

11
− 4

15

}
÷ 0.125 = 32

(5)
(

64

3
− 136

7

)
÷
{(

1

3
+ 0.875

)
× 　 − 1

3

}
÷ 0.75 = 20

(6)
(

101

4
− 74

3

)
÷
{(

1

5
+ 0.125

)
× 　 − 1

6

}
÷ 0.875 = 9



http://kaminodrill.sakura.ne.jp/ 　ル-327319928

c⃝かみのドリル http://kaminodrill.sakura.ne.jp/

15. 中学入試の計算問題（逆算）(2017/8/26版)
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16. 中学入試の計算問題（逆算）(2017/8/26版)
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